CBoucTBa gencTeBumn

C paulnOHaJIbHbIMU YUCITIaMMWN.

CBoncTBa AENCTBUIN C paLMOHanbHbIMU
Yynucrnamm npexHue:

3aKOHbI (CBOUCTBA) C/I0XKEHUA

CyuwectBoBaHue yucna 0:
a=a+0=0+a=a
[lepemecTuTenbHbI (KOMMYTaTUBHbLIN):
a+b=b+a
CoyeTtarenbHbIN (accouMaTUBHbLIN):
a+b+c=(a+b)+c=a+(b+c)
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CBOWUCTBA BbIUUTAHUA

CeoucTtBa 4yucna 0O:
a-0=a; a=a-0; a-a=0
PacnpeaenutenbHble
(AUCTPUOYTMBHbLIE) 3aKOHBbI
CBOWCTBO BblYMTAHUSA YMCHa N3 CYMMBb
a+b-c=(a+b)-c=(a-c)+b=(b-c)+a
CBOMWCTBO BblYMTAHUA CyMMbl U3 YMcna
a-(b+c)=(a-b)-c=(a-c)-b



[MPUMEP (PewuTb ypaBHEHUE)
(I cnoco0) (I I cnoco0)
—_—

1,01-%/55(0,2-2x)=1,2% | 1,01-5/,0(0,2-2x)=1,22
1,01-5/,00,2+5/ 02x=1,44| -5/,¢(0,2-2x)=1,44-1,01

1,01-1/,+5x=1,44 -5/,¢(0,2-2x)=0,43
0,51+5x=1,44 0,2-2x=0,43:(-°/,)
5x=1,44-0,51 -2x=-0,43¢2/.-0,2
5x=0,93 2x=0,43%/,,+0,2 |:2
x=0,93:5 x= 0,43¢2/,,+0,1

x=0,186 x=0,186




